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PROFIT & LOSS
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PRACTICE EXAMPLES

1 coat price the anticle ia ¥ soo and it ia sald at 15% PrOfLL
hem what io the aelling price?

sal; B i
Y formua: More Wdengmimaton 16 Heal vedde A

SP=cpy (“’_‘ioiofj NUmowatos i4 moease 8 devreage i
Aeol Vodue -
Sovms () iy o
oo A 3 13
SP= 800X 15 - 990 1 1ox | xuo
e oo 9420
B v oaseime
As We Studied um (PMQSG;.PWUJ e SP Wl odsobe Ho times
envet pPoamt im -Bkﬂule'n . prerm pus fpowtion Sp

1%%4= |5/100 = 3/20

a.2 A amilkman buye 70 Litre itk im X 630 and add s Litre
waten im it. Now he osells the miocture at 9 rRas Litre then

what Lo the prolids? |
sod: 0 W =
C-Pu{, 70 A4Me Milk = 630T - ¢ waten hat
CPef M5 Lidse Milk = 630% nig Volue

$P of "5 litne Milk="15%9=6715 &

P'/.-( M)mo
c.p

‘:675“630 yujb:’r) 7_, ‘/;
630
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o A mam hogya a old type writer im X 1200 and spemnda X 200
om iLe repairing. Now he sella it at X 1680 them whal La
PArofitye

. CP | dyperiter = 12007

Actual op oy typewniten that a portenpaid = 14063

SP. = |480F
P°.= 280 X100 =947,
14006

Q. 4 A 2hapkeepenrn selle amn article at 13% rrofil. f al the emd ak
smomth total aell Lo at X 33, 900 themn what Lo the Lolal profid

sal: 43213,
C:p 1% S.p
loo 13 113
Jx300 J"XQUO

2990 ¥ 33900

Q.5 sundd buys an article at 20% leas price tham origimal coot
price and sells it at «o% smore price tham the price paid by
Aim. Then what Lo profid %.om the origimal coal price?

sot: et cP=1007%

He boughr ot 207). Jesh B0 LP=100X B0 = BOT
l60

S:P=80Xx140 - npj
loo

dhem , PY=12,,,K1007 12°/.
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Q.6 wpmqmm&u 75%0f S. P. them what Lo PrOJI%?

Q.7 wWhemn 33.metre clath ia aold them there io profit egqual Zo C.
P. of 11 ametre clath b0 whal is profid %P

sal: 33%0/0

Q.8 coat price of am radio o X 600. i 5% .0f C. P. io apend om
Lramaportatiom. Nowt it is sold at 15% profil them whal ib s.
P. ?

sal: 724 .5

Q.9 wWhen .an article Lo aold at 3 as0 then seller bears the Lloos

of 20% so Lo gaim the 20%., at what rate it ohowld be sold?
sal: 75

EFFECT ON PRICE IN %:
Q. 10 A 2hapkeepen buyrs tuwo mobideas vach al the came price. He

aells ome al 18% profl amd amnolher at 10% Loss Then what ia
the met effect om the c. p.?

sad: Wi’c
dot nate of Loth mobile i%100%
80 the elling Joice of 18¢ mobile:-1o6 )t(\gilﬂ‘%j-) IR
Aeimq Jotice wf 2nd mobile = Ioonoo-—Bb): 30T

100
Jotal CP of, both mobiles = loo+106= 200F
g.f- % both mobileh = 13490 < 2@ X

Ao, the frofd bowand 14 ~ @AOOX 100
= Y/, -«‘Ojf]ob;_t
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C P. AND s. P. IN TERMS OF QUANTITY:
Q.llc. p, ot 36% Looks Lo equal o selling price of 30 Looks Lo

what ia PROLIL %7
wzwf- ToicK -
et (P ot Cach pook= 1% .
det S-Ps% ¢ach book=y’€
V50, GPof 34 boolts=36 1% =36XT
S-Pef 30 books- 3ony = 36Y% Dot/ = 6/37; 100
CP & 36 book= P 6f 30 book8

= 20°/.
EIYS —.30)&5
N 30
v /3¢

Profddl= 36-30x100
30

= 635 %100= 20°/-
Q.12s. P. of 5 arlicles Lo equal Lo c. p. of 3 articlesa. what is
profil or Losasx?

S-P@E 5—:C-P-eﬁ3

&P s
op - 13

sol

Josy = 2 W\00= 1o’ Losb
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Q-lawﬁ.aad.cmemm X 720 then the seller hears the loss
s.c,z:WLo C. P. of sballa. Them what is the c. p. of a kall?

CPof 17 balls- ¢p sg Shatle= SPsg 17balls
CO & 12balls < 6P g 17 balis

CP g 12 balls = a0 ] s given thot &P af 17 baﬂj

Clp:"lQO/l?_:GOQ‘ W T20%

Q. 14Pradeepn gets the Loss equal 1o s. p. o 6 goalts whem Ae sells
194 goals. what 4o Losax? Y

S c-cu% gy gouLs— S-P@J& 6qoat8 = &p of 4y (hoatd
CP of 44 goadsd = 5P of 1ud good3 4 S-P af 6 Wjoals
C:P 8 144 goads= &P op I50goats

CP 150
=5 = oA

foss') = 6/ X )00 =14°/- Jobs

Q. IsWhen a persom aells 14 watches at the rate at 2 450 pon

walech and bears a PrOLU equal to c. P. of 4 waltchea then
wealch Lo the c. p. of per watche
sol: 350
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o :eBuY‘ TWO SAME QUANTITY AT DIFFERENT RATES:
MWWMapp&aatmm.o{ 2apples per rupee
‘a‘so’l;oﬂt;it&amz.giwnutyatmmn{ 3 apples per rupee.

20% profld, im howt aruuwch rupees showuld a aimgle
dogem apples be sald>

" CPof 2 agpls i3 — IR

CPaf b Apples i8 3T (D)
CPof 3 Apples w3 R

GO g 6 Apples it 2 —

sal

50, CP Bf 12 Appleb 14 25T
them sip of 12 Apples= BX (—‘—19): 6%

100
G-I7Mﬁ%&,ﬂwaﬂﬁc&eaatsawc{2ammmmm
Amemajmadmm,&m@hrat4mudeamm_ BatA
are munced and sold at 9 articles per 2 rupee. Then he getas
the Loove at X 3. so How /mamy articles were both by Aime
P CPsh 5 Adides (5 — | F

co g U Anticles (8 — 1F \&Ucbﬁe'n £8Y5 the qua“"*‘h?}

sal

db Aame 40 moke the
(‘_.pge 5 Anticles — U CLLL'BT\U’M} Lame

CPof Anbidesxs — 5%

Ixce st Mo Atided - 9TX 9 Y( Jhoe 3lso Lame a,uanti\:\,
Ho X S-Pef 9 Anticles - LT XA HO s Aold-

CP o 360 Antides 2 1T~ 13 - pas

SP o 360 Antides >80T |x3 .. (value of 1T dost i%
173 5 3 A0 \ole |3 3+ifmcb3

1080 SwHcles
050 WU
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Q. ;ay%%amwmmmq % 60.per 20.0ramgen
And the equal mo of oranges are bought at the rate T 60 per

LrAMGes. Bath Iypea are mioced amd cold at the rate at X 60
SQI_"Q""* 25 oramgea. Then what ia the profit and Lossx?

CP g o 0nangeb —3 60 I

\ Pecoutse Mo. ‘5% DMYL&M
C OHanged — (6T
Pg 3o Uang ¢ Qe game , 50 moke
CPof 2xao pOnanges —b0T X3 ut A3ame.-

CPef 2X30 Onanges — 6oA 23

—

P 1of \26 DﬂaT\Sd’ =71360 €

SPaf 25 Onangeb -2 o<

cP 5& \2bX b [}naﬂs% =600 1500% Dacouse, Nno'L ane
ol :
&P 6f 25X2Y ONANGe5* boo s g0 E equal gon gelling
Lomd o l/'mg

Joss'). = 60 X180 = Y°/. Jo88
|Se0

Q. 19 Ra2AIU buypa few wiwia at the rate of 3 kiwd per X s .and
aame mo of kiwib at the rate of & kiwd per X s. Both Lypeo
are mmloced and sold at the rate of 2 kiwd per X s. Then what
Lo the profids»

sal: 712%
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ASSUME cp LESS / MIGH , SELL AT HIGH / LOW

G‘zkopkupuMaWar 0% Profit. | he wowdd have
b-ough.ti.tat 0% Leaa price amd sell it im % 60 more themn he

gela the profit of 25% what ia c. p. of cycler

sal: 8
dut fdice of wycle ig 100 3
Briginal,  C-P SPpP
Nulge lboe —  |ig Q.5
-0

= 112-
AASymed 5 —3 E'm'[l:ls/mol )

Value AL to WA Anutease ¥im P Lis 25 but
questien Aays it id 60T . Lo,
25=60
=12y
C.P=100X2U=2Ub0 X
Q. 21 A busimesoman bsells an article at 10% Profil. | he buyps it
at 10%lecs amd sells it at R 2leas them he geta the profit of
162%. what ia c. p. at am articler
sal: P QP
igindlvelue \po —s  |1D \5

-10

Absumed Value (90 == 907*1/6:.“,5

b=2
1= 2/5
,/50 (_-P':. lOO?\l’S"" Q.L.D?

Q. 22 A luaimesommam selle am article at sx loss. f he buys it at

10% Leas price and sells it im T 33 smonre, he gels the PrOLE
of 30% Then what is c. p. of an article?
sal: 150
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G'QaAMOJnAZL&)amM&Lc&aZ‘ 15% Profld. f he buyps At .at 0%

Leas and aella it at T 4 Less them he geta the prolit of 25%
e What ia c. p.?
N [ ~Ye]

DIFFERENCE OF P/L:

Q. 24 A Lable ia aold at 13% profit. | it isa sold at X 25 imore
Lham profit is 18% what ia c. P. of table?

SO.(: o i
Bosic et cpirx WUk (g2 - 137 =25
(Sp) 1= XX [1°0I+ 13 5 =25
00

‘). =5

L50), -0
D= ”3/|°D ®) lbo*). < 500 "

wWhen it w4 Sold ot 25 {mone, then {opposiiw an
med gmd {401 deMNE
NX lIB/{OU"'(ZS:)LY (]OO-HQ) & {)O

Y we. 2ake aif§eerwe
UX NG =% X W3 =25 PP <= ditference
Lol = dfﬂmm
= = = o¥

Q. 25A persom bLells a walch at s% loda. | he sells it at R s6. 25
snore them he gels 10% profil. what ib ¢c. p.?

sal:
0.+ 5"/ =56-25
iG] = 5595
1+l 115/11

]00-1-:|5/L’)(]00'-7 3719%
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o.zeAAacabMMMaWMc&batz.sxm. Y he selle it at X

100 /more them he gets 7-;;%4a/w#t. so Lo get 12%%#&0{4‘1‘,
wmwmamuwmmw?
1128

Q27A persom aells am article at 10% Loaa. Y it Lo wold at R 30

More them geta profit of 20x. what ia c. p.?
sol: 100

ALLEGATION BASED QUESTION:

Q. 28Two Lypes af tea 180 Rukg and 280 kg are misced im certain

ratio amd vold im 320 kg with 20% Profit. what is the ratio
o,zmmm?

SOZ [}
Basic Mgaailﬁ’ﬂ
det fingt ype feouisw kg 150 %0
‘el Seanel Aype tea 15y Ky Siel &
CP gp L&t type 1D =180x%=1801 T 3’1?%1\9{; = cgoo/3

C:Pa and type tea=2602Y= BoYT / A
Sp eﬁ ry) ®g =3 200ty)

) 260 -¥00 -1%0
uﬂ/a—.")g() 3073 3 3

7 (1801 +2304)x 135/, = 320 (%+4)

Yo/, « o
U?O”I.Jr').%og)x|10/wo‘~3’20(1+3) /3’ /w/g/
(180X +280y)x 6/ - 320% +3204 13,
logo X+ 16808 ﬂ{,oo)q-lbooa RS (PM:LO/wo

GP- glPX\t:O/
16'363*“3003 = |60OX - 1080 % 120

foy) = 52X <[ 9 Alleaa’citm ¢Pig

IRV <o ianomy
ny
2:13
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29N Lihich ratio oanjeelimg tea which coats 32 kg minced
AIA asoamm tea which coata 2s kg, 20 smined tea is sold
Al 32. 4 kg with 20% PrOLL?

sal:
932 95

N/
17= J2Y%100/ . 4

/N

21-25 32-27
i

Q. 30vn which ratio 192 kg tea amd iso kg 2howdd be mioced oo

A Lo 2old at 194. 4 kg wiith 20% profite
sol: 2: s

C. P. AND M. R. P. RATIO QUESTIONS:
Q. 31 A persom gives the 10x discount om m. R. p. .and earn 12%
profil. Them what ia the ratio of c. p. and M. R. P.?

sol:
Basic MR (1010 _cp_ () P .90 _ys
R ( too) O o hEppis
MRPX 90/, o= SP

CP-  MRP
LPX([QOH'ZL)__S‘P H5% 56
. Tuick P 2 MRP
CPX L < gp - () (voo-d72) % (100X p)arp)
Too (100-10) : (100412)
€9mMQ) = eqnk) 90 112
Y51 56

Mﬂpﬂgﬂ/l 06" Cpkl\l/lon
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O 324 Lrader ginvea 15%.diacount om smarked price. so Lo get 19%

% PAOLU, at what percent abone the c. p. ahould be rmarked?

Cp . MRP
(wo-15) - (100t19)
25 T N9
5 - T = 25 Mob=H0) Above .
N
2

Q. 33A persom ginves 10%.diocount om marked price amd earm 8%
profit them by muuch percend i m. p. higher tham . p.?
sal: 20 % Aighenr

Q. 34 AWWW&MW?SOGM@WM
timeas that are 10% Y he giveso 25% diocount om M. R. P., he
LU mamages Lo gel 20% PrOfLL. Themn what Lo marked price?

sal: 880

DISCOUNT IN QUANTITY

Q. 35 Aan advertioement outoide the shop io buyy 2 gel 3 free
then what io actual diacownt im %»

sal:  cost ot the 8hofKeeher wf) & prroduct ie = 5%
4} Lost 48 x T put product
them diScount (4=3x
yoo, discountt *f-= 3%/, x100 = 60°/.

Q. 36 wAat Lo diccownd rate at buyy 4 gel s free?
sol: 55.55 % DISCOUNT
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Q. 37A.0hapkeeper gives 3.articles free om biyying s.articles and
Se give 20% discount and atill manages to gelt 25% profit,
what ia ratio c. p. amd M. R. p. of a.simgle article?

23
Whem ayalue aﬂ, oP ond Plal- vs Stvme.

sod :

Q. 38 A 2hopkeeper gives | article free om the scell al i1s
mdQAMLdmem 4% eoctra discount, he Al earvns 35%

profit. what ia ratio of c. p. amd M. R. P. of a.simgle article?
sal: 2: 3

WHEN VALUE OF C. P. AND P / L IS SAME:
Q. 39 A trader cells an article im X 75.and c. p. .at that .article

Lo equal to profit % . whatia c. p.?
sols 4ok cPis AT =50 ; W=-150X
~—

A0 KX (1003%Y o5 . (et be in nequtive
100 Ly UP

Wx (100+x)=T500

AT4100%1500=0
U2+ 150X —=Hox -1500=0
W(t+150)-50(x1150)=0

Q. 40 A Lrader aella am article im R 39 amd nvalue of c. P. of
that arlicle Lo equal to profils. what ia €. P.?
sol: 30

a. 41 A Lrader aelle am article im R se.and value of c. p. of that
article Lo equal Lo profilds. what ia P%P
sol: 40 %
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